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2.  (2 8 10 16 ) 
2.1  

 
 10  2  8  16  
 0 0 0 0 
 1 1 1 1 
 2 10 2 2 
 3 11 3 3 
 4 100 4 4 
 5 101 5 5 
 6 110 6 6 
 7 111 7 7 
 8 1000 10 8 
 9 1001 11 9 
 10 1010 12 a 
 11 1011 13 b 
 12 1100 14 c 
 13 1101 15 d 
 14 1110 16 e 
 15 1111 17 f 
 16 10000 20 10 
 17 10001 21 11 
 18 10010 22 12 
 19 10011 23 13 
 20 10100 24 14 
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2.2  (10 2 ) 
8 2 10  

 
 (00000001)2 (00000010)2 (00000100)2 (00001000)2 
 =(1�20)10 =(1�21)10 =(1�22)10 =(1�23)10 
 =(1)10 =(2)10 =(4)10 =(8)10 
 
 (00010000)2 (00100000)2 (01000000)2 (10000000)2 
 =(1�24)10 =(1�25)10 =(1�26)10 =(1�27)10 
 =(16)10 =(32)10 =(64)10 =(128)10 
 
 (11111111)2 (00100101)2 (10101010)2 (01010101)2 
 =(255)10 =(1�25+1�22+ =(1�27+1�25+ =(1�26+1�24+ 
  1�20)10 1�23+1�21)10 1�22+1�20)10 
  =(32+4+1)10 =(128+32+8+2)10 =(64+16+4+1)10 
  =(37)10 =(170)10 =(85)10 
 
 

10 2  
 
 (10)10 (129)10 (238)10 (20)10 
 =(1010)2 =(10000001)2 =(11101110)2 =(10100)2 
 

 (15)10 (61)10 (81)10 (180)10 
 =(1111)2 =(111101)2 =(1010001)2 =(10110100)2 
 

 
2.3  (2 8 ) 

8, 9 2 8  
 
 (10001001)2 (11110100)2 (01101001)2 
 =(211)8 =(364)8 =(151)8 
 
 
 (001111010)2 (111000010)2 (000011110)2 
 =(172)8 =(702)8 =(36)8 
 
 

8 9 2  
 
 (123)8 (456)8 (789)8 
 =(001010011)2 =(100101110)2  
 
 
 
 (753)8 (777)8 (135)8 
 =(111101011)2 =(111111111)2 =(001011101)2 
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2.4  (2 16 ) 
8 2 16  

 
 (11110000)2 (11100001)2 (11010010)2 
 =(f0)16 =(e1)16 =(d2)16 
 

 (11000011)2 (10110100)2 (10100101)2 
 =(c3)16 =(b4)16 =(a5)16 
 

 (10010110)2 (10000111)2 (11111111)2 
 =(96)16 =(87)16 =(ff)16 
 

 

16 8 2  
 
 (99)16 (fa)16 (ab)16 
 =(10011001)2 =(11111010)2 =(10101011)2 
 
 (77)16 (cd)16 (28)16 
 =(01110111)2 =(11001101)2 =(00101000)2 
 
 

3.  
3.1  (10 2 ) 

2 10  
 
 (0.1)2 (0.01)2 (0.001)2 
 =(1�2-1)10 =(1�2-2)10 =(1�2-3)10 
 =(0.5)10 =(0.25)10 =(0.125)10 
 

 (0.0001)2 (0.1001)2 (0.1111)2 
 =(1�2-4)10 =(1�2-1+1�2-4)10 =(1�2-1+1�2-2+ 

 =(0.0625)10 =(0.5625)10 1�2-3+1�2-4)10 
   =(0.9375)10 
 

 (11.01)2 (101.101)2 (10.111)2 
 =(1�21+1�20+ =(1�22+1�20+ =(1�21+1�2-1+ 

 1�2-2)10 1�2-1+1�2-3)10 1�2-2+1�2-3)10 
 =(3.25)10 =(5.625)10 =(2.875)10 
 

10 2 2
4 5  

 
 (0.25)10 (0.625)10 (0.5625)10 
=(0.01)2 =(0.101)2 =(0.1001)2 
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(0.8)10 (0.66)10 (0.23)10 
(0.1100)2 (0.1010)2 (0.0011)2 

 

 

 

 
 
3.2  (2 16 ) 

2 16  
 
 (1001.1101)2 (101.10001)2 (10.001011)2 
 =(9.d)16 =(5.88)16 =(2.2c)16 
 

 (11.111101)2 (10100.01011)2 (1111.1111)2 
 =(3.f4)16 =(14.58)16 =(f.f)16 
 

16 2  
 
 (f.e)16 (b.c)16 (3.a)16 
 =(1111.111)2 =(1011.11)2 =(11.101)2 
 
 (9.a)16 (0.21)16 (0.2f)16 
 =(1001.101)2 =(0.00100001)2 =(0.00101111)2 
 
 

4.  
4.1  (2 ) 

2 8
2  

 
 (-1)10 (-10)10 (-26)10 
 00000001 00001010 00011010 2  

 11111110 11110101 11100101  
 11111111 11110110 11100110 +1  
 
 11111111 11110110 11100110  
 
 (-33)10 (-81)10 (-111)10 
 00100001 01010001 01101111 2  

 11011110 10101110 10010000  
 11011111 10101111 10010001 +1  
 
 11011111 10101111 10010001  
 
 



� �

4.2  (2 )   
2 8
2

10  
 
(-1-24)10 (25-10)10 (15-33)10 

 
 (-1)10  (25)10  (15)10  
 00000001 00011001 00001111  

 11111110    

 11111111   +1  
 
 (-24)  (-10)  (-33)  
 00011000 00001010 00100001  

 11100111 11110101 11011110  

 11101000 11110110 11011111 +1  
 
 
 11111111  00011001  00001111 
 + 11101000 + 11110110 + 11011111 
 ----------- ---------- ----------- 
 111100111 100001111 11101110 
 

7 1  7 0  7 1  
8  8  

 
 11100111 11101110 

 00011000 00010001  

 00011001 00010010 +1  
  00001111 
(16+8+1)10=(25)10 (8+4+2+1)10=(15)10 (16+2)10=(18)10 
 

 (-25)10  (15)10  (-18)10 
 
 

5.  
5.1  (2 ) 

2 1 1  
 
(1001.1101)2 (0.00101)2 (0.000111)2 
=(0.1001101)2�(2

4)10 =(0.101)2�(2
-2)10 =(0.111)2�(2

-3)10 
=(0.1001101�10100)2 =(0.101�10-10)2 =(0.101�10-11)2 
 

 

 

5.2  (2 ) 
2  

 
(0.101�1011)2 (0.11�10-10)2 (0.111�100)2 
=(0.101)2�(2

3)10 =(0.11)2�(2
-2)10 =(0.111)2�(2

0)10 
=(101)2 =(0.0011)2 =(0.111)2 

 
 


